Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporatoion proposes to appoint Retail Outlet dealers in Jharkhand, as per following details :

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		imension (ir site (in Sq. I	n M.) /Area of W.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/ Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots/Biddin		
1	FROM TENU TO KHETKO ON ANGWALI ROAD	BOKARO	RURAL	90	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
2	ISPATNAGAR RAILWAY STATION TO KUMHARTOLI CHOWK(TILAK MANJHI CHOWK)	BOKARO	RURAL	110	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
3	BUDHIDIH BRIDGE TO ISPAT NAGAR RAILWAY STATION	BOKARO	RURAL	90	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
4	ON ROAD CONNECTING DHANDABAR BASTI TO BOKARO ENTRY AT NH 18	BOKARO	RURAL	125	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
5	WITHIN VILLAGE KATHARA IN GOMIA BLOCK	BOKARO	RURAL	130	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
6	FROM TOPCHANCHI MORE TO VILLAGE GANESHPUR	DHANBAD	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
7	MOUZA DHOKRA ON RANI ROAD	DHANBAD	RURAL	90	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
8	WITHIN 3 KM FROM CHOUPARAN MORE TOWARDS CHATRA, ON CHOUPARAN CHATRA ROAD.	HAZARIBAGH	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
9	WITHIN 4KM FROM URWAN MORE ON URWAN KANKO JAINAGAR ROAD	KODERMA	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
10	Block office Borio to intersection on SH18 Not on NH/SH	SAHEBGANJ	RURAL	120	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
11	Village-Bara Asti, on Gurabandha Nuchrishol road	EAST SINGHBHUM	RURAL	55	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
12	Village-Raipahari, on Musabani dumaria road	EAST SINGHBHUM	RURAL	60	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
13	Sisai Police Station to Songra on Ghaghra-Sisai road	GUMLA	RURAL	60	SC	CFS	25	25	625	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of 1.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
14	Mouza-Gumru on Karra to Torpa Road, RHS from Silafari Bridge to Balamore Chowk	KHUNTI	RURAL	140	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Mouza-Patratolli RHS from Karra to Ranchi between Patratoli bridge to Patratoli More	KHUNTI	RURAL	240	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
16	Within 2 KM from Kutmu more (T Point) towards Daltonganj	LATEHAR	RURAL	150	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
1	Mouza - Tundul, RHS on Road between Saparom Chowk to Jharkhand New Vidhan Sabha	RANCHI	RURAL	143	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
18	Mouza - Chatra in Angara Block, LHS from Chatra Pahantolli to Chatra Bhandar tolli.	RANCHI	RURAL	173	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
19	Within 2 Km of Ghajia Barrage on moving towards Udaipur	SARAIKELA KHARSAWAN	RURAL	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
20	PHC Jaintgarh to Gadrasai bridge on Jaintagarh-Jagannathpur road	WEST SINGHBHUM	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
21	Village Gura to Village Asura on Chaibasa-Bhalandia road	WEST SINGHBHUM	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
22	FROM VILLAGE KASHIJHARIA TO PINDRAJORA THANA ON NH18 CHAS- PURULIA ROAD	BOKARO	REGULAR	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	FROM RAJRAPPA MORE TO PETERBAR ON NH-320	BOKARO	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1	FROM MAHARANA PRATAP CHOWK (POLICE LINE) TO BOKARO RAILWAY STATION MORE ON NH 320	BOKARO	REGULAR	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	CIRCULAR ROAD DEOGHAR WITHIN MUNICIPAL LIMIT	DEOGHAR	REGULAR	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
26	WITHIN 7KM FROM KARODIH MORE(INTERSECTION OF GOPIKANDHAR - PAKURIA ROAD AND SH18) ON SH18	DUMKA	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	SHIKARIPARA INTER COLLECGE TO WB/JHARKHAND BORDER ON NH114A	DUMKA	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	WITHIN 5 KM FROM JAMUA CHOWK TOWARDS DORANDA ON SH13	GIRIDIH	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	IN BETWEEN MILE STONE NO 50 TO 55 ON ROUTE OF CHARHI MORANGI ON NH20	HAZARIBAGH	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	CHAPRIA(CHAPURIA) TO START OF JAMTARA BYPASS AT SATSAL ON GOVINDPUR SAHIBGANJ ROAD	JAMTARA	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	WITHIN 6KM OF MIRZACHOWKI ON NH33 TOWARDS SAHEBGANJ	SAHEBGANJ	REGULAR	230	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. M	-	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	Within municipalty limit of Mango	EAST SINGHBHUM	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
33	Within 5 KM From Galudih Flyover on NH-18 to Baheragora,RHS While going towards Baheragora	EAST SINGHBHUM	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	Within 5 KM from jamsola Bridge on Odisha Jharkhad border towards Jharkhand on NH 49	EAST SINGHBHUM	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1	Urmi village to Bamhni village on Gumla town Bypass(NH-43), LHS while moving from Sisai to Jashpur	GUMLA	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
36	Khunti Town in Khunti Block	KHUNTI	REGULAR	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1	Within 2 KMs of Mouza-Chaingada on the LHS between Kankani Bridge to Chaingada Over Bridge of SH02	RAMGARH	REGULAR	238	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
38	Between KM post 18-20, Block-Nagri from RHS Ranchi To Gumla Road	RANCHI	REGULAR	270	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
39	Ranchi Town (within Municipal Limits)	RANCHI	REGULAR	300	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
1	Within 5 Km of Jharkhand-Odisha border on NH-143H on moving towards Ambapani	SIMDEGA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
41	Anandpur village to Kurna Village on NH-320G, LHS while moving from Bano to Manoharpur	WEST SINGHBHUM	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	From Sikursai to Gittilpi on Chaibasa Bypass	WEST SINGHBHUM	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	Within 7 Km of Noamundi Over bridge on NH-320G, LHS while moving from Noamundi to Hatghmaria	WEST SINGHBHUM	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
44	MAHATO MARKET TO TELI BANDH ON TELO MAIN ROAD	BOKARO	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
45	FROM TENU TO SARAM BAZAR ON GOMIA ROAD	BOKARO	RURAL	150	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
46	FROM PETERBAR TO JABRA ON GUMIA - PETERBAR ROAD	BOKARO	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4
47	WITHIN 10KM OF AIIMS MAIN GATE TOWARDS BHIRKIBAD MORE ON DEOGHAR-AIIMS ROAD/BY PASS ROAD	DEOGHAR	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
1	GIDHNI MORE KOTHIYA TO DARADMARA BIHAR BORDER ON DEOGHAR-SULTANGANJ-BANKA ROAD	DEOGHAR	RURAL	110	Open	DC	25	25	625	16	35	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (in site (in Sq. N	•	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
49	WITHIN 4 KM OF JAGDISHPUR RAILWAY CROSSING TOWARDS DHAMNI NOT ON NH/SH	DEOGHAR	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
50	WITHIN 8KM OF KUKRAHA MORE ON SARATH-KARMATAR ROAD TOWARDS KARMATAR	DEOGHAR	RURAL	120	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
51	MADHUPUR TO MARGOMUNDA POLICE STATION ON MADHUPUR- MARGOMONDA ROAD (OUTSIDE MUNICIPAL LIMIT)	DEOGHAR	RURAL	130	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
52	FROM TOPCHANCHI MORE TO KHESHMI ON TOPCHANCHI - GOMOH ROAD	DHANBAD	RURAL	90	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
53	FROM DUMRA MORE TO MUSHNI MORE ON DUMRA - GOMOH ROAD	DHANBAD	RURAL	110	Open	DC	25	25	625	16	35	Draw of Lots	5	4
54	BETWEEN KHAKI KALAAN AND ASURBANDH ON DUMRI-BERMO ROAD	DHANBAD	RURAL	90	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
55	FROM SEETALPUR TO DOMGARH ON LHS OF DEOLI-KHARPAL ROAD TOWARDS PATHERDIH	DHANBAD	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4
56	WITHIN KALIASOLE BLOCK	DHANBAD	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
57	BETWEEN P.B.ED COLLEGE AND BINOD BIHARI MAHATO CHOWK ON LHS OF BALIAPUR HIRAK ROAD TOWARDS BALIAPUR	DHANBAD	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
58	WITHIN VILLAGE JAINAGAR ON LHS OF BARWADDA TUNDI ROAD TOWARDS DHANBAD	DHANBAD	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
59	WITHIN 2 KMS FROM NATWARI MORE TOWARDS BARWADDA ON BARWADDA TUNDI ROAD	DHANBAD	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
60	FROM SHAKTI CHOWK TO NAYA MORE ON TETULMARI ROAD	DHANBAD	RURAL	115	Open	DC	25	25	625	16	35	Draw of Lots	5	4
61	BETWEEN NIRSA THANA AND VILLAGE BENAGORIA ON NIRSA- RAGHUNATHPUR ROAD	DHANBAD	RURAL	85	Open	DC	25	25	625	16	35	Draw of Lots	5	4
62	MOUZA RAGHUNATHPUR ON RAGHUNATHPUR-BENAGORIA ROAD, BLOCK PURVI TUNDI	DHANBAD	RURAL	110	Open	DC	25	25	625	16	35	Draw of Lots	5	4
63	FROM KUSUNDA MORE TO KATRAS MORE ON SHANKAR ROAD	DHANBAD	RURAL	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
64	ON LHS FROM SHAKTI CHOWK TO KAKO MORE ON HIRAK ROAD	DHANBAD	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. M		by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
65	ON LHS FROM BINOD BIHARI MAHTO CHOWK TO SHAKTI CHOWK ON HIRAK ROAD	DHANBAD	RURAL	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
66	Within 8km of Masalia Post Office towards Nishintpur on Nischintpur- Kundaihit Road via Masalia	DUMKA	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
67	WITHIN 5KM OF CIRCUIT HOUSE - MASSANJORE ON EITHER SIDE	DUMKA	RURAL	60	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
68	Within 5km of Asanbani on Bakhartali - Baramasia Road	DUMKA	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
69	DUDHANI TO KHILKANALI ON PALAJORI-DUMKA ROAD (NOT ON NH/SH)	DUMKA	RURAL	80	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
70	WITHIN 10KM OF MASALIA POST OFFICE TOWARDS KUNDAHIT ON ROAD CONNECTING MASALIA TO KUNDAHIT	DUMKA	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	WITHIN 3KM OF RAMGARH POLICE STATION ON RAMGARH- NONIHAT OR RAMGARH-HANSDIHA ROAD	DUMKA	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
72	WITHIN 4KM OF SIDO KANU AIRPORT, DUMKA (OUTSIDE MUNICIPAL LIMIT, NOT ON NH/SH)	DUMKA	RURAL	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
73	IN BETWEEN CHIRAIYA MORE TO ALLAHABAD BANK, KHUDISAR ISRI BAZAR, DUMRI	GIRIDIH	RURAL	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
74	WITHIN 3KM FROM IRGA RIVER BRIDGE TOWARDS BABUDIH ON JHARKHANDI DHAM ROAD.	GIRIDIH	RURAL	85	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
75	WITHIN 5 KM FROM SBI KHIJURI BRANCH TO BARWABAD ON KHIJURI - BARWABAD ROAD	GIRIDIH	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
76	In between milestone no. 7 to 8 on MDR 86 under revenue village Ranidih	GIRIDIH	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
77	IN KHUDISAR PANCHAYAT MOUZA GURHA ON NARAYANPUR MOD TO SARIYA ROAD	GIRIDIH	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
78	In Village pardih block bengabad	GIRIDIH	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
1	IN VILLAGE VAMITAND ON MDR 88 ON LHS WHILE GOING FROM BENGABAD TO CHATRO.	GIRIDIH	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
80	Within 2 KM from KSS high school Koiridih towards Singhdih	GIRIDIH	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of Л.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
81	Within 3 KM from Dhanwar police station towards Kenduwa on Sariya Rajdhanwar road.	GIRIDIH	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
82	WITHIN 3KM OF HANWARA(BIHAR/JHARKHAND BORDER) TOWARDS NAYANAGAR/MAHAGAMA	GODDA	RURAL	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
83	WITHIN 5KM OF CHANDA POST OFFICE	GODDA	RURAL	55	OBC PH	DC	25	25	625	16	35	Draw of Lots	5	3
84	WITHIN 10KM OF BALBADDA POLICE STATION ON EITHER SIDE	GODDA	RURAL	60	OBC CC-1	DC	25	25	625	16	35	Draw of Lots	5	3
85	WITHIN 10KM OF BASANTRAY POLICE STATION ON EITHER SIDE	GODDA	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
86	WITHIN 3KM OF GHORICHAK TOWARDS BARA BOARIJOR NOT ON NH/SH	GODDA	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
87	WITHIN 2 KM FROM CHALKUSA BLOCK OFFICE ON CHALKUSA ROAD	HAZARIBAGH	RURAL	80	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
88	IN VILLAGE MADHOPUR BLOCK BARKATHA	HAZARIBAGH	RURAL	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
89	IN GANGPACHO PANCHAYAT BLOCK BARKATTA	HAZARIBAGH	RURAL	70	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
90	WITHIN 2 KM FROM ISKCON MANDIR TOWARDS PANCHAYAT BHAWAN GAIRA ON BARKATHA - GAIRA ROAD	HAZARIBAGH	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
91	IN BETWEEN KUNDALBAGI MILESTONE O TO KUNDALBAGI MILESTONE 1 TOWARDS BES RAILWAY STATION ON RHS	HAZARIBAGH	RURAL	90	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
92	Within 3km from Jhumra NH522 intersection towards Kariyatpur on Jhumra Kariyatpur road	HAZARIBAGH	RURAL	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
93	In Between Giddi 'A' police station to Bundu, on Giddi Ramgarh road.	HAZARIBAGH	RURAL	90	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
94	within 4 km from Charhi Police Station towards Tapin on Charhi ghatotand road	HAZARIBAGH	RURAL	120	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
95	Within 3 km from Bank of India Nawada Branch towards Bishnugarh on Bishnugarh-Gumia road on LHS	HAZARIBAGH	RURAL	120	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
96	WITHIN 3KM OF RUNAKURAGHAT BRIDGE TOWARDS NALA ON NALA ASANSOL ROAD	JAMTARA	RURAL	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
97	WITHIN 10KM OF FATEHPUR POLICE STATION TOWARDS DUDHANI ON GOVINDPUR-SAHEBGANJ ROAD	JAMTARA	RURAL	130	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of Λ.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
98	IN BETWEEN BANK OF INDIA BASODIH BRANCH TO SAKRI RIVER BRIDGE ON BASODIH SATGAWAN ROAD	KODERMA	RURAL	110	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
99	IN VILLAGE AMBADIH, BLOCK JAINAGAR.	KODERMA	RURAL	80	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
100	HIRANPUR TO MAHESHPUR VIA SAHARGRAM	PAKUR	RURAL	120	SC PH	CFS	25	25	625	0	0	Draw of Lots	0	2
101	WITHIN 10KM OF SAHARGRAM POST OFFICE ON PAKUR - AMRAPARA ROAD	PAKUR	RURAL	110	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
102	WITHIN 10KM OF AMRAPARA ON AMRAPARA-MAHESHPUR-MURARI ROAD	PAKUR	RURAL	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
103	AMRAPARA NOT ON NH/SH	PAKUR	RURAL	140	Open	DC	25	25	625	16	35	Draw of Lots	5	4
104	WITHIN 5KM OF MAHESHPUR CHOWK ON AMRAPARA - MAHESHPUR ROAD TOWARDS AMRAPARA	PAKUR	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4
105	BORIO TO TINPAHAD VIA KEROJORI ON RAJMAHAL-TINHPAHAD-BORIO ROAD NOT ON NH/SH	SAHEBGANJ	RURAL	60	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
106	TINPHAR TO RAJMAHAL VIA GUNIHARI ON RAJMAHAL-TINHPAHAD-BORIO ROAD NOT ON NH/SH	SAHEBGANJ	RURAL	60	OPEN CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
107	Within 5km of Taljhari Railway Station not on NH/SH	SAHEBGANJ	RURAL	70	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
108	WITHIN 5KM OF MIRZACHEUKI RAILWAY STATION ON MIRZACHOWKI- BHAGAIYA ROAD	SAHEBGANJ	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4
109	BOARIJOR BLOCK OFFICE TO BORIO BLOCK OFFICE ON LALMATIA - BORIO ROAD	SAHEBGANJ	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
110	VILLAGE BADI KODARJANNA, BLOCK SAHIBGANJ (NOT ON NH/SH)	SAHEBGANJ	RURAL	125	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
111	Within 1 Km from Mathurapur Thana, on Chatra - Datonganj road via Ghorighat	CHATRA	RURAL	150	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
112	Within 2 KM from Gidhaur Police station, RHS towards Hazaribagh, on Chatra-Hazaribagh road	CHATRA	RURAL	130	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
113	Bachra on Bachra Tandwa road	CHATRA	RURAL	150	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
114	Within 10 KM from Manushmuriya Village on Chakuliya Dharampur road	EAST SINGHBHUM	RURAL	55	SC	CFS	25	25	625	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. M	-	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
115	From Jadugoda more upto Rankini Mandir on Hata Musabani road	EAST SINGHBHUM	RURAL	65	OBC CC-1	DC	25	25	625	16	35	Draw of Lots	5	3
116	Within 10 KM From Dhalbhumgarh Fly over under pass towards Chakuliya on Dhalbhungarh Chakuliya road	EAST SINGHBHUM	RURAL	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
117	Within 10 KM From Sidhu Kanu Chawk towards Village Patamda on Katin road	EAST SINGHBHUM	RURAL	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
118	Village-Terenga, on Hata Musabani road	EAST SINGHBHUM	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
119	Within 4 KM from Mouza Bend on Chakuliya Bend Road	EAST SINGHBHUM	RURAL	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Village-Kalsimung, from Middle school chouthiya to Tanushree Jansewa samiti training bhawan	EAST SINGHBHUM	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
121	Within 5 KM on either side of Radha Krishna Mandir Birgram on Jamsedpur Birgram Road	EAST SINGHBHUM	RURAL	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
122	FromLuabasa Bridge to National Highway-18 on Luabasa road connecting NH-18, (Not on NH)	EAST SINGHBHUM	RURAL	130	Open	DC	25	25	625	16	35	Draw of Lots	5	4
123	Within 10 KM from village Govindpur towards Luabasa Bridge on Govindpur Lubasa Road	EAST SINGHBHUM	RURAL	110	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
124	Within 2 KM from Rajkiykrit Prarthmik Vidyalay Bakoia towards Majhiaon on Gahrhwa Majhiaon road	GARHWA	RURAL	80	SC PH	CFS	25	25	625	0	0	Draw of Lots	0	2
125	Mouza - Bargarh on Bhandariya - Bargarh road	GARHWA	RURAL	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
126	Within 1 KM from Chiniya chowk, Block - Chiniya	GARHWA	RURAL	115	Open	DC	25	25	625	16	35	Draw of Lots	5	4
127	Mouza- Bhaunri, Between Bhaunri to Ramanuj ganj ring road	GARHWA	RURAL	120	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
128	Within 1 km from old police station Ramkanda , RHS towards Ranka from Ramkanda to Ranka road	GARHWA	RURAL	120	Open	DC	25	25	625	16	35	Draw of Lots	5	4
1	Mouza -Tharkiya, Between Jag Jeevan and Kurthanwa Nala, LHS from Nagar Utari to Dhurki road	GARHWA	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
130	Within 2 Km of Bharno Block Chowk on Bharno-Bazar Tand road	GUMLA	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	Within 4 Km of Kumhari Chowk on Kumhari-Pokla railway station road	GUMLA	RURAL	70	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
132	Within 3 Km of intersection of NH- 143D & Konbir - Palkot road on Konbir- Palkot road	GUMLA	RURAL	70	ST CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of Λ.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
133	Within 8 km of junction of Palkot- konbir road & NH-143 towards nathpur on palkot-konbir road	GUMLA	RURAL	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
134	Village Pandariya on Rewda bazar- Lulhua road	GUMLA	RURAL	60	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	Mouza-Kulhutu on Karra to Ranchi Road, RHS Between Shiv mandir and Kulhutu Chowk.	KHUNTI	RURAL	134	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
136	Mauza Barwadag on Karra to Govindpur Road	KHUNTI	RURAL	80	ST CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
I	Mouza-Basia, Within 1 KM from Balumath Railway Siding gate from TATA workshop on Balumath Murpa road	LATEHAR	RURAL	255	Open	DC	25	25	625	16	35	Draw of Lots	5	4
I	In between Pakri Middle school and Chetag Government school,Mouza - Chetag on Balumath Latehar road	LATEHAR	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
1	Mauza -Patratu From Devi Mandap Patratu gate upto Tubed bridge on Latehar - Tubed road	LATEHAR	RURAL	218	Open	DC	25	25	625	16	35	Draw of Lots	5	4
I	Mouza-Loharsi, KM Stone No- 8 to KM Stone No 10 on Chandwa Macklusiganj road	LATEHAR	RURAL	130	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
	Mouza- Kumhariya , Within 1 KM from Sky up public school towards Bhandra on Akashi - Bhandra road	LOHARDAGA	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
I	Mouza - Utka on Kuru-Kairo road, Within 3 KM from RPM High School towards kuru	LOHARDAGA	RURAL	65	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
143	Within 2 KM from JMS English Medium school on Maina Bagicha - Harmu road	LOHARDAGA	RURAL	80	Open	DC	25	25	625	16	35	Draw of Lots	5	4
1	Mouza- Pandeypura, Within 1 KM from RS Memorial school RHS from Bishrampur to Untari road	PALAMU	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
145	Village - Jonr, In between Km Stone No3 to KM Stone No4 on Daltonganj Patan road	PALAMU	RURAL	90	Open	DC	25	25	625	16	35	Draw of Lots	5	4
1	In between Oxford School Daltonganj and Baneri Bandh Mozque ,LHS from Tildag to Shahpur	PALAMU	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
1	Mouza - Karso, Within 1 KM from Karso High School, LHS towards Salatua on Ranka Chainpur road	PALAMU	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4
148	Mouja - Ladi, LHS from Daltonganj to Neura more on Chainpur to Salatuwa road	PALAMU	RURAL	150	OBC	DC	25	25	625	16	35	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of Л.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
149	Mouza-Kamgarpur,between Health centre Khamgapur and Thakurbari mandir LHS from Japla to Chattarpur	PALAMU	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	Mauza - Lautwa, Between Oria More & ambedkar chowk on Daltonganj - Manatu road	PALAMU	RURAL	125	Open	DC	25	25	625	16	35	Draw of Lots	5	4
151	Mouza- Nawatanr, Witinin 1 KM from Naudiha Police station on Chttarpur - Naudiha bazzar road	PALAMU	RURAL	200	Open	DC	25	25	625	16	35	Draw of Lots	5	4
152	WITHIN 3 KM OF JORI CHOWKON JORI PRATAPUR ROAD	PALAMU	RURAL	80	OPEN CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
l .	Mouza-Kujju, within 2 KMs from Sarubera Chowk on Nayamore to Ghato Road on the LHS	RAMGARH	RURAL	170	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
154	Mouza-Purbadih, RHS on Gola to Muri Road.	RAMGARH	RURAL	194	Open	DC	25	25	625	16	35	Draw of Lots	5	4
155	Mouza-Hesla on LHS between Bigga More Argada to Hesla Post Office.	RAMGARH	RURAL	184	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
156	Within 10 KMs of Vill-Tangarbasli on Mandar to Bero Road	RANCHI	RURAL	132	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Mouza-Hesal, LHS on Ranchi Ring Road between Kathartola Village and Gondlipokhar High School.	RANCHI	RURAL	186	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
158	Within Bundu Town in Bundu Block, Not on NH or SH	RANCHI	RURAL	140	Open PH	DC	25	25	625	16	35	Draw of Lots	5	4
l .	Mouja-Hochar, Block-kanke, LHS on towrads hochar over Bridge to Sangrampur overbridge	RANCHI	RURAL	190	Open	DC	25	25	625	16	35	Draw of Lots	5	4
l .	Mouza-Bakshidih, LHS on Road Between Ormanjhi Block Chowk to Sikidiri.	RANCHI	RURAL	176	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
	Within 10 KMs on either side of Birsa Munda Airport, Ranchi outside Municipality Limits	RANCHI	RURAL	187	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
162	Mouza-Dibadih, on Silli to Rangamati Road	RANCHI	RURAL	186	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
163	Mouza-Umedanda on Burmu-Hindgir Road	RANCHI	RURAL	152	Open	DC	25	25	625	16	35	Draw of Lots	5	4
	Mouza -Malti, on road connecting Kutiyatu Chowk to Rampur on Ranchi Ring Road	RANCHI	RURAL	200	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
165	Mouza-Binja, on Hindgiri to Patratu Road	RANCHI	RURAL	240	Open	DC	25	25	625	16	35	Draw of Lots	5	4
166	Mouza-Ratu, Between Kathitand Chowk to Hurhuri Chowk	RANCHI	RURAL	284	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
167	Mouza Domandih, on Bundu -Silli Road	RANCHI	RURAL	227	ST	CFS	25	25	625	0	0	Draw of Lots	0	2

SI. No	Name of location		Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. N		by the ap	be arranged plicant (In akh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
168	Mouza- Sukruhutu, RHS on Ranchi Ring Road between ITBP chowk and Shivajinagar.	RANCHI	RURAL	230	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
169	On Pundag Road, from Old Argora Chowk to IIM Ranchi	RANCHI	RURAL	198	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
170	Mouza-Mariyatu, RHS between Masjid to Bijulia Panchayat Road on Haji Chowk to Brambe Road.	RANCHI	RURAL	265	Open	DC	25	25	625	16	35	Draw of Lots	5	4
171	Mouza- Tonko, LHS on Hatia Chandni Chowk to Tonko Ring Road, within 3 KMs	RANCHI	RURAL	236	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
172	Mouza - Ulhatu, LHS On Ring Road between Rampur Chowk to Kawwali.	RANCHI	RURAL	300	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
173	Mouza-Baridih, RHS on Ormanjhi to Gola road	RANCHI	RURAL	220	Open	DC	25	25	625	16	35	Draw of Lots	5	4
174	Mouza-Rangadih RHS on Sonahatu to Silli Road	RANCHI	RURAL	235	Open	DC	25	25	625	16	35	Draw of Lots	5	4
175	Within 2 KM of Usha more on road leading towards Usha Martin Limited Gate	SARAIKELA KHARSAWAN	RURAL	160	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
176	Village Telai on road connecting Cheliyama Middle School and NH-220	SARAIKELA KHARSAWAN	RURAL	125	Open	DC	25	25	625	16	35	Draw of Lots	5	4
177	Mouza Majhia doana on Saraikela- Rajnagar road	SARAIKELA KHARSAWAN	RURAL	75	Open	DC	25	25	625	16	35	Draw of Lots	5	4
178	Within 1 km of Ichgarh police station on moving towards rargaon on Sinni road	SARAIKELA KHARSAWAN	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
179	Within 2 Km of Adityapur auto cluster building on service road(Not on SH/NH)	SARAIKELA KHARSAWAN	RURAL	150	Open	DC	25	25	625	16	35	Draw of Lots	5	4
180	Within 3 km of Adityapur Waste Management pvt ltd gate towards Sini on Urki road	SARAIKELA KHARSAWAN	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
181	Mouza Tikar on rargaon - muri road	SARAIKELA KHARSAWAN	RURAL	170	Open	DC	25	25	625	16	35	Draw of Lots	5	4
182	Mouza Purisilli on dobo - kanderbera road	SARAIKELA KHARSAWAN	RURAL	200	Open	DC	25	25	625	16	35	Draw of Lots	5	4
183	Within 1 km of Junction with NH-43 towards Khankra on Khankra- Dhadkidih road.	SARAIKELA KHARSAWAN	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
184	Mouza Garja on Simdega-Kurdeg Road	SIMDEGA	RURAL	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4
185	Mouza Khijri on Simdega-Kurdeg Road	SIMDEGA	RURAL	85	Open	DC	25	25	625	16	35	Draw of Lots	5	4
186	Mouza Tamra on road connecting Biru Bazar with NH-143	SIMDEGA	RURAL	70	Open	DC	25	25	625	16	35	Draw of Lots	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of 1.). *	by the ap	be arranged plicant (In Lakh)	Mode of	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
187	Village Simirtamadhupur in Manoharpur Block	WEST SINGHBHUM	RURAL	90	ОВС РН	DC	25	25	625	16	35	Draw of Lots	5	3
188	Darposi village to lepang Village on Jaintagarh - Noamundi road	WEST SINGHBHUM	RURAL	80	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
189	JSEB Hatgamharia office to Balandia Village on Hatghmaria-Bhalandia road	WEST SINGHBHUM	RURAL	70	OBC CC-1	DC	25	25	625	16	35	Draw of Lots	5	3
190	Village Barla on Jaintagarh- Mundui road	WEST SINGHBHUM	RURAL	90	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
I	Bara Nanda panchayat bhawan to Danguwaposi village on jagannathpur- Noamundi Road	WEST SINGHBHUM	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
192	Village Uligutu to Village Edalbera on Kharsawan road	WEST SINGHBHUM	RURAL	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
193	Village simbadih to Village Sonaposi on Bachchamhatu-Barabambu road	WEST SINGHBHUM	RURAL	100	Open	DC	25	25	625	16	35	Draw of Lots	5	4
194	NAYA MORE TO BASANTI MORE IN BOKARO STEEL CITY	BOKARO	REGULAR	185	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
195	WITHIN 1 KM OF VISTHAAPIT CHOWK ON CHAS RAGHUNATHPUR ROAD	BOKARO	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
196	DEOGHAR TOWN WITHIN MUNICIPAL LIMIT (NOT ON NH/SH)	DEOGHAR	REGULAR	160	Open	DC	20	20	400	32	55	Draw of Lots	15	5
I	WITHIN 5KM FROM CHOPA MORE TOWARDS DEOGHAR BUS STAND ON NH114A	DEOGHAR	REGULAR	210	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
198	WITHIN 4KM OF BHIRKIBAD MORE(INTERSECTION NH114A & DEOGHAR AIIMS ROAD) ON NH 114A TOWARDS BENGABAD	DEOGHAR	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
199	SARAWAN BLOCK OFFICE TO SARATH ON NH114A	DEOGHAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	NAULAKHA TEMPLE TO SARAWAN BLOCK OFFICE ON NH114A	DEOGHAR	REGULAR	210	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
201	WITHIN 10KM OF CHOPA MORE TOWARDS GHORMARA ON NH114A	DEOGHAR	REGULAR	220	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
202	MADHUPUR WITHIN NAGAR PARISHAD LIMIT(NOT ON NH/SH)	DEOGHAR	REGULAR	140	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	MOHUDA OVERBRIDGE TO TELMACHO BRIDGE ON LHS OF NH 18 TOWARDS BOKARO	DHANBAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
204	MOHUDA OVERBRIDGE TO TELMACHO BRIDGE ON RHS OF NH 18 TOWARDS BOKARO	DHANBAD	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	FROM NIRANKARI CHOWK TO KURMIDIH ON BARWADDA BYPASS ROAD	DHANBAD	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in iite (in Sq. N	M.) /Area of 1.). *	by the ap	be arranged plicant (In Lakh)	Mode of	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
206	WITHIN 5 KM OF TOPCHANCHI MORE TOWARDS KOLKATA ON LHS OF NH19	DHANBAD	REGULAR	160	Open	сс	35	35	1225	32	12	Bidding	30	5
207	MEMKO MORE TO ASHARFI HOSPITAL ON BHULI - HIRAK ROAD	DHANBAD	REGULAR	175	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 2 KM OF KISAN CHOWK ON BARWADDA-DHAIYA ROAD	DHANBAD	REGULAR	205	Open	DC	20	20	400	32	75	Draw of Lots	15	5
209	BETWEEN BAGSUMA TO GOBINDPUR ON LHS OF NH 19 TOWARDS DELHI	DHANBAD	REGULAR	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN TETULIA MORE TO NISRA MORE ON LHS OF NH 19 GOING TOWARDS KOLKATA	DHANBAD	REGULAR	195	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
211	MOUZA AMTAL ON RANI ROAD	DHANBAD	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	FROM GOVINDPUR MORE TO GORTOPA ON GOVINDPUR-BALIYAPUR ROAD	DHANBAD	REGULAR	135	OBC	DC	30	25	750	32	55	Draw of Lots	15	4
213	FROM PUTKI CHOWK TO TATA CENTRAL HOSPITAL ON PUTKI - BHAGA ROAD	DHANBAD	REGULAR	125	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
1	FROM SUBHASH CHOWK (UNDER POLICE STATION SARAIDHELA) TO DHANGI MORE(ON BALIAPUR ROAD)	DHANBAD	REGULAR	150	OBC CC-1	DC	20	20	400	32	75	Draw of Lots	15	4
215	BETWEEN KATRAS MORE TO DHANSAR MORE ON DHANBAD-SINDRI HIGHWAY	DHANBAD	REGULAR	270	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
216	FROM MUGMA MORE TO BARAKAR RIVER BRIDGE ON OLD GT ROAD	DHANBAD	REGULAR	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
217	Within 5km from Mahro More towards Nonihat on SH17	DUMKA	REGULAR	180	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
218	WITHIN 3KM OF MAYURAKSHI RIVER BRIDGE AT BIJAYPUR TOWARDS DUMKA ON GOVINDPUR-SAHEBGANJ EXPRESS WAY	DUMKA	REGULAR	200	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
219	WITHIN 12 KM OF KOTHIA TOLL PLAZA TOWARDS HANSDIHA ON NH133	DUMKA	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
220	WITHIN 5 KM OF KOTHIA TOLL PLAZA TOWARDS DEOGHAR ON NH133	DUMKA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	WITHIN 10KM FROM JAMA HIGH SCHOOL TOWARDS BHIKAMPUR ON SH15	DUMKA	REGULAR	100	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
222	WITHIN 3KM FROM GUMA MORE(INTERSECTION ON SH18 AND DURGAPUR-MAHESPUR ROAD) TOWARDS DUMKA ON SH18	DUMKA	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in iite (in Sq. N	M.) /Area of Л.). *	by the ap	be arranged plicant (In .akh)	Mode of	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
223	WITHIN 5KM OF SBI BANK PATTABARI TOWARDS DUMKA ON NH114A	DUMKA	REGULAR	190	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 8KM FROM CHUTONATH TEMPLE GATE ON GOVINDPUR- SAHEBGANJ EXPRESSWAY	DUMKA	REGULAR	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
225	WITHIN 10KM OF INTERECTION OF SH17 AND BARAPALASI RLY STN ROAD ON SH 17 TOWARDS NONIHAT	DUMKA	REGULAR	170	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
226	WITHIN 5KM FROM SHRI AMRA CHOWK (INTERSECTION OF DUMKA BYEPASS AND SH18) ON SH18 TOWARDS KATHIKUND	DUMKA	REGULAR	200	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1	WITHIN 10KM FROM BAGODAR TOWARDS ATKADIH ON RIGHT HAND SIDE ON NH19	GIRIDIH	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1	WITHIN 3KM FROM TARATAND POLICE STATION TOWARDS DHANBAD ON SH 13 ON LEFT HAND SIDE	GIRIDIH	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1	Within 2 km from kaiyandih railway overbridge towards kowar on Giridih - Pachamba road	GIRIDIH	REGULAR	130	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
230	BIRSA CHOWK TO SHITALPUR CHOWK ON RHS OF BIRSA CHOWK- MAHESHMUNDA ROAD WITHIN GIRIDIH MUNICIPALITY	GIRIDIH	REGULAR	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
231	WITHIN 7KM FROM POREYAHAT BLOCK OFFICE ON NH133	GODDA	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1	WITHIN 5KM OF BIHAR/JHARKHAND BORDER TOWARDS HANSDIHA ON BHAGALPUR-DUMKA HIGHWAY	GODDA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
233	WITHIN 10 KM OF KARGIL CHOWK TOWARDS PANJWARA JHARKHAND/BIHAR BORDER ON NH333A	GODDA	REGULAR	190	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
234	WITHIN 6KM FROM MEHRAMA POLICE STATION ON NH133	GODDA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
235	WITHIN 8KM OF MAHAGAMA ON NH133	GODDA	REGULAR	200	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	WITHIN 5KM FROM DISTRICT MORE TOWARDS KATKAMSANDHI WITHIN HAZARIBAGH MUNICIPAL TOWN.	HAZARIBAGH	REGULAR	150	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1	WITHIN 2KM FROM KSHITIJ HOSPITAL TO ST. COLUMBA'S COLLEGE WITHIN MUNICIPAL HAZARIBAGH TOWN	HAZARIBAGH	REGULAR	200	Open	DC	20	20	400	32	55	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of 1.). *	by the ap	be arranged plicant (In .akh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	ON BARHI NH 19 BYPASS ON LHS WHILE GOING FROM BARHI TOWARDS DHANBAD	HAZARIBAGH	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
239	IN BETWEEN MILE STONE NO 47 TO 49 ON NH20 WHILE GOING FROM DEMOTAND TO MORANGI ON LEFT HAND SIDE	HAZARIBAGH	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
240	WITHIN 6KM FROM PAKRI BARWADIH TO PATRA KALAN VIA BARKAGAON CHOWK ON HAZARIBAGH TADWA SH 7	HAZARIBAGH	REGULAR	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
241	IN BETWEEN DISTRICT MOD TO NH20 BYPASS INTERSECTION AT NAGWAN WITHIN HAZARIBAGH MUNICIPAL.	HAZARIBAGH	REGULAR	230	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
242	IN BETWEEN MILESTONE NO 47 TO 43 ON NH 522	HAZARIBAGH	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1	WITHIN 3 KM FROM BARHI SDM OFFICE TOWARDS DHANBAD ON RHS ON NH19	HAZARIBAGH	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	IN BETWEEN BIHAR-JHARKHAND BORDER TO COMMUNITY HEALTH CENTER CHOUPARAN ON NH19.	HAZARIBAGH	REGULAR	190	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
245	IN BEWEEN BHARAT MATA CHOWK TO NAGWAN TOLL PLAZA ON NH 20 HAZARIBAGH BYPASS	HAZARIBAGH	REGULAR	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
246	WITHIN 8KM OF JAMTARA TOWARDS MIHIJAM ON NH419	JAMTARA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
247	Within 4km from Jawahar railway bridge towards koderma on NH20	KODERMA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	IN BETWEEN SADAR HOSPITAL KODERMA TO BIHAR-JHARKHAND BORDER ON NH 20	KODERMA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
249	WITHIN 2 KM FROM MAHESHPUR CHOWK TOWARDS KODERMA ON RIGHT HAND SIDE ON SH 13	KODERMA	REGULAR	130	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
250	IN BETWEEN SHUBHAS CHOWK TO MAHARANA PRATAP CHOWK ON RHS ON NH-20.	KODERMA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	IN BETWEEN KARMA MEDICAL COLLEGE TO JJ COLLEGE ON LHS OF NH 20.	KODERMA	REGULAR	150	Open	СС	35	35	1225	32	12	Bidding	30	5
252	SUBHAS CHOWK TO DC OFFICE PAKUR ON NH	PAKUR	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
253	DHARAMPUR MORE TO SIMLONG ON NH333A	PAKUR	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in site (in Sq. N	M.) /Area of Л.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
254	WITHIN 8KM OF KARAMTOLA RLY STN ROAD TOWARDS SAHEBGANJ ON OLD NH80	SAHEBGANJ	REGULAR	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
255	WITHIN 5KM FROM GOVT ITI COLLEGE SAHEBGANJ ON GOVINDPUR - SAHEBGANJ EXPRESSWAY	SAHEBGANJ	REGULAR	130	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
1	BETWEEN KM STONE 256 AND KM STONE 260 ON NH33 (RHS TOWARDS UDHWA)	SAHEBGANJ	REGULAR	175	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
257	WITHIN 5KM OF RADHANAGAR POLICE STATION, UDHWA ON NEW NH33	SAHEBGANJ	REGULAR	190	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
258	Mouza- Larang on Tandwa Ranchi road on SH-07	CHATRA	REGULAR	300	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
259	KM Stone No 29 to 27, on LHS from Chatra to Dobhi Road on NH 22	CHATRA	REGULAR	153	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
260	Within 5 Km from Bhairaghora towards West Bengal on NH-49	EAST SINGHBHUM	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
261	Within Municipal Limit of Jug Salai Nagar Palika	EAST SINGHBHUM	REGULAR	150	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
262	Within 2 KM of village-Barahdih, on NH- 18,on RHS, while going from TATA to Baheragora		REGULAR	155	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
263	From Ghat shila railway station to Gandhi Maidan on Moubhandar road	EAST SINGHBHUM	REGULAR	100	Open	DC	20	20	400	32	55	Draw of Lots	15	5
264	Within 2 KM of mouza-Jorshol, on NH- 18	EAST SINGHBHUM	REGULAR	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
1	Within 2KM of Mouza Bara Banki,on NH-18,LHS, While moving from Dimna towards Baheragora	EAST SINGHBHUM	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
266	Within 15 Km from Bhairaghora towards Jamshedpur on RHS	EAST SINGHBHUM	REGULAR	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
267	Within 2KM of Mouza Berahatu,on NH- 18, LHS, While moving from Dimna towards Baheragora		REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
268	Within 1 KM of Ghatshila College on College Road	EAST SINGHBHUM	REGULAR	160	Open	DC	20	20	400	32	55	Draw of Lots	15	5
	Within 5KM of Chandni Chawk towards Jamshedpur,LHS on NH-18 While moving from Galudih to tata		REGULAR	300	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	Within 2 KM of Mouja Bhilai Pahari, On LHS while moving from Dimna chawk to Dhalbhungar	EAST SINGHBHUM	REGULAR	300	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	within 3 KMs from Jawahar Navoday Vidyalaya towards West Bengal ,on NH- 49, RHS	EAST SINGHBHUM	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. N		by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
272	Within 5 KM from P&M mall Exit on outer circle road	EAST SINGHBHUM	REGULAR	200	Open	DC	20	20	400	32	75	Draw of Lots	15	5
273	From Baridih Golchakkar to Sakchi Goal Chakkar on Straight mile road	EAST SINGHBHUM	REGULAR	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
1 //4	Within 2 KM of Mouza - Belchampa from FCI godown on NH-39	GARHWA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
275	Between Hoor Nahar and Kanlya Aahar, RHS On Shankha to Lagma Khajuri Bypass Road.	GARHWA	REGULAR	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	Within 2 KM from Mouza- Gonda, Block - Meral, between Garhwa to Nagarnutari on NH-39	GARHWA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
277	In between Jhaluwa and Chattarpur on new Lagma - Shanka bypass road	GARHWA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	Within 2 Km of Bharno Police Thana on NH-43, LHS while moving from Bero towards Gumla	GUMLA	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
279	Within 2 km of Village Kutlu on NH- 143B	GUMLA	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
280	Within 5 KMs of Mouza-Rongo on either side of SH3	KHUNTI	REGULAR	168	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
281	Within 2 KMs of Mouza-Urmi, RHS on Khunti to Simdega Road	KHUNTI	REGULAR	210	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
282	Within 2 KMs of Mouza-Hutar, on the LHS of Ranchi to Khunti National Highway.	KHUNTI	REGULAR	300	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
1	Within 2 KMs of Amareshwar Dham Temple Gate on NH-143D,LHS while moving from Khunti to Simdega	KHUNTI	REGULAR	238	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1	Within 2 Km of IOCL Terminal gate , RHS on moving from Murhu towards Khunti on NH-20	KHUNTI	REGULAR	180	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
285	Murhu to Khunti Block Office more on NH-20 LHS on moving from Murhu to Khunti	KHUNTI	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
286	Within 2 km of Mouza Fudi on NH-20 towards Ranchi, LHS while moving from Ranchi towards Khunti	KHUNTI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
287	In between KM Stone No 98 to KM Stone No 105 on NH-22	LATEHAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
288	KM Stone No 70 to KM Stone No 72 on NH 39	LATEHAR	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
289	Mouza- Rampur, in between Parvati Rest House and Dubki Mission church Mahuatand to Daltonganj , RHS	LATEHAR	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		mension (in iite (in Sq. N	M.) /Area of Л.). *	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
290	In between Km Stone No 94 to 96, LHS from Latehar to Chandwa on NH-39	LATEHAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
291	Within 10 KM from intersection point of NH-22 and simariya- Bagra road on NH-22 towards Balumath	LATEHAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
292	Within 2 KM Mouza Rajwadih on SH - 10, Inbetween Pokhraha khurd and Government Engineering college	PALAMU	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
293	from Lilawati Hospital to Vrindaban garden gate on police line road, LHS towards Bees futa chowk	PALAMU	REGULAR	110	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
294	Within 3 KM from starting of Chattarpur Bypass, RHS towards Hariharganj on chattarpur bypass	PALAMU	REGULAR	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
295	Within 15 KM from Hariharganj PS on NH -139, after Hariharganj bypass, LHS towards Chattarpur	PALAMU	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
296	Within 5 KM from PS - Hariharganj, RHS towards Chattarpur on NH - 139, After hariharganj bypass	PALAMU	REGULAR	210	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
297	Mouza-Marar, RHS on Nayasarai Chowk to Ranchi Road Railway Bridge	RAMGARH	REGULAR	200	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
298	Within 2 KMs of Mouza - Kaitha,LHS on NH 33 between Ramgarh Patel Chowk To Damodar Bridge	RAMGARH	REGULAR	288	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
299	Within 2 KMs of Mouza-Balkudra on the opposite side of Jindal Steel Plant on SH no.2	RAMGARH	REGULAR	248	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
300	between KM stone 96 to Km stone 98, LHS from Ranchi to Hazaribagh on NH- 20 (old NH-33) .	RAMGARH	REGULAR	300	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
301	Within 2 KMs of Mouza-Sankul,RHS on Patratu to Binja Road .	RAMGARH	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
302	Between chainages 90-88 of NH 33 on the LHS when going from Ranchi to Hazaribagh.	RAMGARH	REGULAR	235	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
303	Within 2 kms of Village-IRBA ON NH 20 from Ranchi Town to Ormanjhi	RANCHI	REGULAR	279	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	Within 2 KMs of Mouza - Sarwal, On Ring Road LHS from Rampur Chowk to Kharsidag Chowk.	RANCHI	REGULAR	184	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
305	Within 2 Kms of Mouza-Chama on SH 7	RANCHI	REGULAR	169	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
306	Within 2 KMs of Ratu Bus Stand	RANCHI	REGULAR	195	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. N	-	by the ap	be arranged plicant (In Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
307	Within 2 KMs of Mouza-Bero,LHS Side on Bero to Jamtoli Road .	RANCHI	REGULAR	266	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
308	Within 2 KMs of Mouza-Saparom on NH 43 on the RHS from Kathal More to Piska Railway Crossing	RANCHI	REGULAR	300	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
309	Mouza-Similiya RHS between ITI Bus Stand and Kathal More.	RANCHI	REGULAR	269	Open	DC	30	30	900	32	75	Draw of Lots	15	5
310	RHS on new NH 43 when going from Ranchi to Tata , between KM post 168- 170	RANCHI	REGULAR	213	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1	Within 2 KMs of Mouza-Bundu on Ranchi -Tata National Highway 43(new no)	RANCHI	REGULAR	246	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
312	In between Simalbera More and Samudah Pilla Board on SH 2,LHS, from Patratu Towards Ranchi	RANCHI	REGULAR	264	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
313	LHS on Ranchi to Tata new NH 43,between KM stone 176 to 178	RANCHI	REGULAR	250	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
314	LHS on Ranchi to Tata on new NH 43,between KM stone 183 to 185	RANCHI	REGULAR	271	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
315	Within 2 KMs of Mouza -LODHMA, LHS, on NH 43 from RANCHI to TATA Road	RANCHI	REGULAR	278	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
316	Within 2 KMs of Mouza-Chora, RHS on Bijupara to Khalari Road	RANCHI	REGULAR	300	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
1	Within 2 KMs of Mouza- Nehalgara on NH 43(old NH 33),RHS while going from Ranchi to Tata .	RANCHI	REGULAR	282	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
318	LHS on Bero to Lohardaga road,within 2 Kms of Chatti Police Picket	RANCHI	REGULAR	216	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
319	Ranchi Town within Municipal Limits	RANCHI	REGULAR	300	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
320	Ranchi Town within Municipality Limits	RANCHI	REGULAR	300	Open	DC	20	20	400	32	75	Draw of Lots	15	5
321	Within 2 KMs of Mouza - Tundul, LHS on Ranchi Ring Road,while going from Saparong to Hotwasi	RANCHI	REGULAR	236	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
322	Within 2 Kms of Mouza- Pahar singh, LHS on SH 01 from Sinju Toli to Samudayik Bhawan	RANCHI	REGULAR	280	Open	DC	35	35	1225	32	75	Draw of Lots	15	5
323	Gamhariya to Kandra Toll Plaza on SH- 5, LHS while moving from Gamhariya towards Kandra	SARAIKELA KHARSAWAN	REGULAR	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within Municipal Limits of Adityapur Nagar Nigam(Not on SH/NH)	SARAIKELA KHARSAWAN	REGULAR	170	Open	DC	20	20	400	32	55	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. N		by the ap	be arranged plicant (In .akh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
325	Within 2 km of Mouza Lengdih on proposed Chandil town Bypass on NH- 18	SARAIKELA KHARSAWAN	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
326	Within 2 Km of Mouza Humid on NH- 18 towards Kanderbera,LHS while moving from Chandil to Dimna Chowk	SARAIKELA KHARSAWAN	REGULAR	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
327	Within 2 km of Mouza Jhabri on NH-43 towards Ranchi, LHS while moving from Chowka to Ranchi	SARAIKELA KHARSAWAN	REGULAR	260	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
328	Within 2 Km of Mouza Chilgu on NH-18 towards Kanderbera, LHS while moving from Tata to Ranchi		REGULAR	240	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
329	Within 2 km of Mouza Keshargaria on NH-220, LHS while moving from Rajnanagar to Chaibasa	SARAIKELA KHARSAWAN	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
330	Within 2 KM of Mouza Ghoraling on NH-43, LHS while moving from Chowka to Jamshedpur	SARAIKELA KHARSAWAN	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
331	Within 2 Km of FCI Dugni Godown on NH 43, LHS while moving from Saraikela towards Kandra	SARAIKELA KHARSAWAN	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
332	Between KM Stone 20-22 on NH-43, LHS while moving from Chaibasa to Saraikela	SARAIKELA KHARSAWAN	REGULAR	150	Open	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (in site (in Sq. N	-	by the ap	be arranged plicant (In .akh)	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
333	Within 2 Km of Mouza Lupungdih on NH-18 towards Nimdih, LHS while moving from Chandil to Purulia	SARAIKELA KHARSAWAN	REGULAR	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
334	Within 2 km of mouza Ramgarh on NH- 18 towards Chandil, LHS while moving from Tata to Ranchi	SARAIKELA KHARSAWAN	REGULAR	230	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
335	Within 2km of Mouza Biru on NH-143, LHS while moving from Kolebira towards Simdega	SIMDEGA	REGULAR	200	Open PH	DC	35	35	1225	32	95	Draw of Lots	15	5
336	Within 2km of Mouza Kolibera on NH- 143 towards Simdega, RHS while moving from kolebira to Simdega	SIMDEGA	REGULAR	160	OBC CC-1	DC	35	35	1225	32	95	Draw of Lots	15	4
337	Within 2 km of Mouza Bongram on NH- 320G towards Kolebira, LHS while moving from Bano to Kolebira	SIMDEGA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
338	Within 6 km of Jarakel Railway Crossing on NH-320G while moving towards Kolebira	SIMDEGA	REGULAR	150	OBC CC-1	DC	35	35	1225	32	95	Draw of Lots	15	4
339	Within 2km of Mouza Agharma on NH- 143D towards Simdega, LHS while moving from khunti to Simdega	SIMDEGA	REGULAR	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1 340	Within municipal limits of Chakradharpur town(Not on NH)	WEST SINGHBHUM	REGULAR	110	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
341	From Goreaduba to Chhanpada on NH- 20 on LHS while moving from Jaintgarh to Hatghamaria	WEST SINGHBHUM	REGULAR	250	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
342	Village Sarda to Village Mojodimba on NH-20, RHS while moving from Chaibasa towards Chakradharpur	WEST SINGHBHUM	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
343	within 2 km of Mouza Argundi on NH- 20, LHS on while moving from Chaibasa to Chakradharpur	WEST SINGHBHUM	REGULAR	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
344	within 2 km of Mouza Debrasai on NH- 20, LHS while going from Hatghamaria to Jaintgarh	WEST SINGHBHUM	REGULAR	180	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
345	Within 2 km of Mouza Iligara on NH- 20, LHS while moving from hatghamaria to chaibasa	WEST SINGHBHUM	REGULAR	230	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
346	Hatgamharia To Lokesai village on NH- 320G, RHS while moving from Hatgamharia towards Noamundi	WEST SINGHBHUM	REGULAR	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
347	Within 2 km of Mouza Jaipur on NH- 20, RHS while moving from jaintgarh to hatghamaria	WEST SINGHBHUM	REGULAR	225	Open	DC	35	35	1225	32	95	Draw of Lots	15	5

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.iocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
Dogular	CC	OBC	5000	Rural	CC	OBC	4000
Regular ROs	CC	Open	10000	ROs	CC	Open	8000
NOS	DC	OBC	5000	NOS	DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Bokaro	Territory Co-ordinator (Retail),Bokaro, Bharat Petroleum Corporation Ltd, Ihagaon POL Depot,Radhanagar, Dist. Bokaro,	. /	Bokaro, Deoghar,Dhanbad, Giridih,Godda, Dumka,Hazaribagh, Jamtara.Koderma. Pakur.Sahebgani
	Jharkhand. Pin 827010	9560821619	samarajnoacima, i anarjouricoguri,
Ranchi	Territory Co-ordinator (Retail),Ranchi, Bharat Petroleum Corporation Ltd, 3rd Floor,Nile Complex, Old HB Road, ar Kanta Toli Chowk, Dist. Ranchi, Jharkhand. Pin 834001.	9031678260	Chatra, Garhwa,Gumla, Khunti, Latehar,Lohardaga, Palamu,Ramgarh, Ranchi, Saraikala Kharsawan, Simdega, Singhbhum East, Singhbhum West